N = 0l & At & M A

EXN: Fat
B S4 M L
Sl BADIPEY CEEEED
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
= A 41,047,499 40,344,597 702,902
= 152,600
g 1,000,000
Jl 21,335,441
= 18,559,458
o B LG 41,001,809 40,296,387 705,422
= 152,600
g 1,000,000
Dl 21,335,441
= 18,513,768
el N 3,570,075 3,938,047 N 367,972
SHMFBEY =S 2,708 2,708 0
203 €2 F=&d| 2,708 2,708 0
03 Al ZH =X Q2= XH| 2,708 2,708 0
OAMNBZXARZ=XH| (O AHE ) 2,708,000 2,708
s EX3 583,606 660,630 NTT7,024
308 XX SHAHSOIH 191,250 204,000 N 12,750
01 AIXSHMENEXZ 191,250 204,000 N 12,750
OYLHsIH ZLT ol Ol X0l A= 2H)
191,250,000 191,250
403 XX ESHHS K20 & 392,356 456,630 AB4L 274
01 AIXSHHMA2E X 392,356 456,630 NB4, 274
OLHsIHELAS (0 A=) 392,356,000 392,356
SAINESHAY 396,635 360,375 36,260
308 XX G M SOl A 40,000 12,000 28,000
01 AIXSHMEMNEX= 40,000 12,000 28,000
OIS MAL A 40,000,000 40,000
403 XX SHHS K20 & 356,635 348,375 8,260
01 XIS A=Z2E X 356,635 348,375 8,260
OSSAM MelAlE X3 (o atE2)
235,765,000 235,765
OMNS=sIHIELEdXE 90,000,000 90,000
OgAapgds&dXS 30,870,000 30,870
ENME BdHE 4 298,000 373,000 75,000
307 2iz2to| A 298,000 373,000 A75,000
04 QIZ2tSHAFALS B X 298,000 373,000 A 75,000
OEAMSAH SRS A 16,000,000 16,000
OE2IIs8Y AU 75,000,000 75,000
OFNMNEEAHCEEN L AU IO A=EZ)
72,000,000 72,000




N L1
a4 B L
&S SADIeEd (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Osdg |FSIIg #2(0aE2)
135,000, 000 135,000
ste d3s XA 40,000 110,000 A70,000
307 gl2tol & 40,000 110,000 A70,000
02 IZHE M AHE L 40,000 110,000 A70,000
Ot ZASBHE EHR 88 40,000,000 40,000
stAMAELHN A 2,218,951 2,397,584 A 178,633
308 XX EHH SOl 2,168,951 2,250,434 A 81,483
01 HIXNHHBNEES 2,168,951 2,250,434 A 81,483
Oste 298¢t |4 851,600,000 851,600
Ot =at X2 (oaE)
342,016,000 342,016
O8t? SHE SR (0aEZ)
417,435,000 417,435
Ot 22 sIs4 338,100, 000 338,100
OsteEdE S2Nas Za XA
64,800,000 64,800
OB8RTMR=0H FUH=sIt |4 50,000,000 50,000
O=4tsIF HAZ JHE M XI& 30,000,000 30,000
Ons® 8= st =4 75,000,000 75,000
403 MtXISHHE X201 & 50,000 147,150 A 97,150
01 XM A2EE 50,000 147,150 A 97,150
OgtesIt k=320 X& 25,000, 000 25,000
Ost2sIt AIEMHEALS 25,000, 000 25,000
=S =ZAE 8 X 2 30,175 33,750 A 3,575
307 gl2tol & 30,175 33,750 A 3,575
02 IZtE M AHE L 30,175 33,750 AN3,575
OJNFHENE L IINM S NA (M=)
30,175,000 30,175
SMF I oA 9,914,240 10,986,737 A 1,072,497
J| 7,043,310
< 2,870,930
ANz Fd2e X 71,000 592,500 A 521,500
308 XX EHH SOl A 20,000 0 20,000
01 HXNHHBHELS 20,000 0 20,000
OTMR AtZ M EAIE I XI& 20,000,000 20,000
403 MtXSHHS =0l & 51,000 592,500 A 541,500
01 X SHMA=2E X 51,000 592,500 A 541,500
OMEHWIED & K (M=) 51,000,000 51,000
QEIANZ I =4 554,525 786,200 A 231,675




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
308 X EHSOIA 39,150 61,200 A22,050
01 HIXNHHBHNEELES 39,150 61,200 A 22,050
OUZEX T ZAZ &4k X (0l&EZ)
12,750,000 12,750
O=ZME FSHI XEAMY 26,400,000 26,400
403 MHXISHHE X201 & 515,375 725,000 A 209,625
01 XM A=2EE 515,375 725,000 A 209,625
OXAtSMAZH X2 (0atE2) 515,375,000 515,375
IMSHAS AFZ2IXHE K& 5,023,680 4,521,312 502,368
J| 3,767,760
< 1,255,920
308 X XIEHHSOIA 5,023,680 4,521,312 502,368
J| 3,767,760
< 1,255,920
01 HXNHHBHELS 5,023,680 4,521,312 502,368
OZ A2 M arE At 2| XM E X &
5,023,680, 000 5,023,680
J| 3,767,760
< 1,255,920
TAZHEME SUHFY X 2,128,000 2,128,000 0
J| 1,680,000
= 448,000
308 XXIEHHSOIA 2,128,000 2,128,000 0
J| 1,680,000
< 448,000
01 AXHHILEES 2,128,000 2,128,000 0
OXAzdarE S XN&  2,128,000,000 2,128,000
J| 1,680,000
< 448,000
IMNSHAS JIAEZH Y X 900,000 600,000 300,000
J| 600,000
< 300,000
403 HXSHHSA=0l& 900,000 600,000 300,000
J| 600,000
< 300,000
01 X SHMA2E X 900,000 600,000 300,000
OZAZHAE JIAHEH P XA
900,000, 000 900,000
J| 600,000
S 300,000
d2HANAHE ALl XM= K& 921,320 921,320 0
J| 743,000
< 178,320
308 MtXIEHMSOIH 921,320 921,320 0
J| 743,000




EXN: Fat
a4 B L
SRl ELAY T (29 a8)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 178,320
01 AIKISHHENEXZ 921,320 921,320 0
OSSR =4 AL XNHE XS
921,320,000 921,320
J| 743,000
& 178,320
NEHINXEE S22 NS 104,400 71,638 32,762
J| 90,000
& 14,400
308 XHXIEHSOIA 104,400 71,638 32,762
J| 90,000
& 14,400
01 AIKSHHEMNEX= 104,400 71,638 32,762
OFEHX =48 X2 XE 104,400,000 104,400
J| 90,000
o= 14,400
HNELXNETHE EHH K& 159,250 142,100 17,150
J| 122,500
& 36,750
308 MXISHHSOIA 159,250 142,100 17,150
J| 122,500
& 36,750
01 IXHHIMNEEXS 159,250 142,100 17,150
OFSEHXN =82 E MYl XA 159,250,000 159,250
J| 122,500
& 36,750
TANE S22 N 52,065 53,667 AN 1,602
Jl 40,050
== 12,015
403 XX SHHE X201 A 52,065 53,667 AN 1,602
Jl 40,050
o=t 12,015
01 XIS A2E X 52,065 53,667 A 1,602
O=xANE S&2e XN 52,065,000 52,065
J| 40,050
& 12,015
TEASMAXH 14,324,328 11,429,725 2,894,603
J| 7,200,697
& 7,123,631
SAEFE NS AR 4,686,522 4,997,700 A311,178
201 LBt 9| 13,500 13,500
01 AP 22| H| 13,500 13,500
OFAttz JHE (0l AHE ) 13,500,000 13,500
202 044 9,000 9,000
01 2L Y| 9,000 9,000
_ 4 _




EXN: Fat
My B4 AMY L3
Sl HBASMNEY (e
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
OFAtetx JHE (Ol AHE ) 9,000,000 9,000
308 XAHXIGHHM SO0l & 1,591,772 2,005,700 AN413,928
01 IXHHIMNEXTZ 1,591,772 2,005,700 AN413,928
O=AsIE AFHM2L MY (M aAHEZ)
1,591,772,000 1,591,772
403 XX SHHS K20 & 3,072,250 2,969,500 102,750
01 XIS A=Z2E X 3,072,250 2,969,500 102,750
OF=EEL XMeAd X& 2,702,500,000 2,702,500
OSAAFHZL Z2AS (M AHEZ)
255,000,000 255,000
QOIELI2 SAEd ZH(HaHEZ)
114,750,000 114,750
EAHF NS 1,526,534 0 1,526,534
J| 1,174,257
o 352,277
403 XXM S X201 & 1,526,534 0 1,526,534
J| 1,174,257
= 352,277
01 MXSHHXNE2EE X 1,526,534 0 1,526,534
OFM2FINA 1,526,534 ,000 1,526,534
J| 1,174,257
& 352,277
E|HY| ALY A& 1,949,272 0 1,949,272
J| 1,499,440
& 449,832
308 XHXIEHSOIA 1,949,272 0 1,949,272
J| 1,499,440
== 449,832
01 AIXSHMEMNEX= 1,949,272 0 1,949,272
E|oHY| AL Y| XS 1,949,272,000 1,949,272
J| 1,499,440
= 449,832
2SS AlE HEx K& 490,000 490,000
J| 400,000
= 90,000
403 XX SRS K20| & 490,000 490,000 0
J| 400,000
= 90,000
01 XIS A=2E X 490,000 490,000 0
O2sXEs Ald e X 490,000,000 490,000
J| 400,000
= 90,000
HHO| IJFA A H| 1,149,050 1,225,000 AT75,950
Dl 938,000
o 211,050
_ 5 _




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
403 UHXSHHSA=0l& 1,149,050 1,225,000 AT75,950
J| 938,000
< 211,050
01 X SHMA2E X 1,149,050 1,225,000 AT75,950
Outol2ItA HH XI& 1,149,050, 000 1,149,050
J| 938,000
< 211,050
SsEHE 490,000 490,000 0
J| 400,000
< 90,000
403 MtXISHHE X201 & 490,000 490,000 0
J| 400,000
< 90,000
01 XM A=2EE 490,000 490,000 0
OZ2sEHEXNA 490,000, 000 490,000
J| 400,000
< 90,000
AESI L 785,250 815,800 230,550
308 XtXIEHHSOIA 262,500 250,000 12,500
01 HXNHHNBHELS 262,500 250,000 12,500
OL=EsI LEHAAMS (0AEZ)
212,500,000 212,500
ORI Mo SFAALY 50,000, 000 50,000
403 X SHHS =0l & 522,750 565,800 A 43,050
01 HXSHMA2E X 522,750 565,800 A 43,050
OZE=sI SHMY(0LEZ) 522,750,000 522,750
Bz ESAE 78,000 78,000 0
J| 60,000
< 18,000
308 XXM SOIA 78,000 78,000 0
J| 60,000
< 18,000
01 AXHHBYEES 78,000 78,000 0
O2=3= sHESKE 78,000,000 78,000
J| 60,000
< 18,000
=3Ngsy 36,000 90,000 254,000
403 A X EHHS =0l A 36,000 90,000 254,000
01 X HHMA=LE L 36,000 90,000 254,000
O3t EAY 36,000,000 36,000
Ss A& e ol Xg Al &d XI& 2,576,000 0 2,576,000
J| 2,300,000
< 276,000




2N

N2 a3 25t
Sl HBASMNEY CEEEED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
403 XX SHHS K20 & 2,576,000 0 2,576,000
J| 2,300,000
& 276,000
01 AIXISHHMA2E X 2,576,000 0 2,576,000
O}=2=0UXs AIEXR 2,576,000,000 2,576,000
J| 2,300,000
=} 276,000
ot =N |CT JIAHEH XN 557,700 0 557,700
J| 429,000
= 128,700
403 XX SHHS K20 & 557,700 0 557,700
J| 429,000
= 128,700
01 XIS A =2E X 557,700 0 557,700
O2%F=F ICT JIHEH K& 557,700,000 557,700
J| 429,000
= 128,700
sS==X e 13,193, 166 13,941,878 NT48,712
= 152,600
= 1,000,000
J| 7,091,434
o= 4,949,132
EpMsIIES 31,620 51,000 A 19,380
308 AMXISHMSOIA 18,870 36,000 A 17,130
01 AIXSHMENEXZ 18,870 36,000 A 17,130
K| - PEMH =SA2 2=Hl X (MAEZ
) 18,870,000 18,870
403 XX S M S K201 & 12,750 15,000 A2,250
01 MXHHXE2BE =X 12,750 15,000 A2,250
OSSEX SAsE ASX(0AEZ)
12,750,000 12,750
EsE2s A 254,286 280,800 N26,514
308 XHXIGHH SO0l & 254,286 280,800 N26,514
01 IXHHNIMNEXS 254,286 280,800 N26,514
SISSHI A (0l AHE 2H) 254,286,000 254,286
S22 s0IHXZA(MEAIY) 60,000 30,000 30,000
403 XX S S K201 H 60,000 30,000 30,000
01 AIXISHHMA2E X 60,000 30,000 30,000
OBlHSE S0IHZH(MEALY) 60,000,000 60,000
S - RASZE 2elE=F HE NS 138,261 112,710 25,551
= 81,330
& 56,931
308 XHXIEHSOIA 138,261 112,710 25,551




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 81,330
< 56,931
01 IXNHHBNEES 138,261 112,710 25,551
ORIl - RadsS 2e+ZE HEXH
138,261,000 138,261
= 81,330
< 56,931
2020 sS4 +=H XA 106,854 108,834 A 1,980
= 48,570
< 58,284
308 XX EHH SOl 106,854 108,834 A 1,980
= 48,570
S 58,284
01 IXNHHBNEES 106,854 108,834 A1,980
Oz1n20l sdst+==Hl XN 106,854,000 106,854
= 48,570
< 58,284
S=2234dH AXIX 1,714,000 326,000 1,388,000
s 1,000,000
< 714,000
403 XIS E X201 E 1,714,000 326,000 1,388,000
s 1,000,000
< 714,000
01 XXM 22 = 1,714,000 326,000 1,388,000
OssE34dH &X X 1,714,000, 000 1,714,000
s 1,000,000
< 714,000
S==X 2ELEE A 14,700 44,100 A 29,400
= 12,000
< 2,700
308 A EHHSOIA 14,700 44,100 A 29,400
= 12,000
< 2,700
01 HIXNHHNBHEELS 14,700 44,100 A 29,400
Os2=X ALE AY 14,700,000 14,700
= 12,000
< 2,700
NEMHEE (SHAEXH) 900,000 600,000 300,000
308 XXM SO0 A 900,000 600,000 300,000
01 IXNHHBNEES 900,000 600,000 300,000
OJI =Mt 2ol XA 900,000, 000 900,000
S4AHTHoH oo e XI& 62,250 96,600 A 34,350
308 XtXIEHHSOIA 24,000 51,600 A 27,600
01 AXHHILEES 24,000 51,600 A 27,600




2N

=
=
a4 B L
=
=}

@ ss=sX2a (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OF4tsIt =G XA 24,000,000 24,000
403 MHXISHHE X201 E 38,250 45,000 A6,750
01 XM A=2EER 38,250 45,000 26,750
OFA <2Toh X AIE X2 (0l &HE2)
38,250,000 38,250
Ots=XAE 2% X 29,250 36,504 NT,254
308 XXM S0 A 29,250 36,504 NT,254
01 IXNHHBNEES 29,250 36,504 ANT,254
O0tS=XANELKAHA 29,250,000 29,250
FERR HMUXA 1,138,460 1,293,300 A 154,840
308 XtXIEHH SOl A 642,995 719,700 AT6,705
01 AXHHILEES 642,995 719,700 AT6,705
OUs BHZLZS MA(HLE)
540,545,000 540,545
OsdsIt 2HXA AL 102,450,000 102,450
403 UHXSHHSA=0l& 495,465 573,600 AT78,135
01 XM A=LE L 495,465 573,600 AT78,135
OdsAE Sl (oarE) 495,465,000 495,465
stuesasa X 2,509,426 2,186,316 323,110
| 2,091,188
< 418,238
308 XXM S0 A 2,509,426 2,186,316 323,110
| 2,091,188
< 418,238
01 IXNHHBNEES 2,509,426 2,186,316 323,110
Ostuesgasa XA 2,509,426,000 2,509,426
J| 2,091,188
= 418,238
40/ 2e N (XS )(E) 22,714 22,714 0
| 11,357
< 11,357
307 21201 A 22,714 22,714 0
| 11,357
< 11,357
02 IAtFAAFE R 22,714 22,714 0
O=a20/2 22| X2 (DNAZ AF) 22,714,000 22,714
| 11,357
< 11,357
Fds0lgzel XN (MXSH)(A=E ) 753,688 738,090 15,598
| 579,759
< 173,929
308 XXX S0 A 753,688 738,090 15,598
J| 579,759




N L1
a4 B L
@ ss=sX2a (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 173,929
01 IXNHHBNEES 753,688 738,090 15,598
Osdas0/2e X (HESE) 753,688,000 753,688
J| 579,759
< 173,929
LY ST 22 30,030 11,700 18,330
J| 23,100
= 6,930
308 XX EHHSOIA 30,030 11,700 18,330
J| 23,100
< 6,930
01 X HHILEXS 30,030 11,700 18,330
SEZYE SHAY 30,030,000 30,030
J| 23,100
< 6,930
JIEIESEXE 685,300 500,480 184,820
308 AHAIEHH SO 453,300 460,480 AT7,180
01 HXNHHNBMNEELS 453,300 460, 480 AT7,180
Ogds=IIsd XN (MaEY) 238,000,000 238,000
Ogx=EssIt 82 HEEI XNE 100,000,000 100,000
OstH&0 MESOHE AHMEs FHI X2 (0
) 15,300,000 15,300
OxEs=sIt 3gerd & 100,000, 000 100,000
403 Ut SHHS =0l & 232,000 40,000 192,000
01 XM A=2E X 232,000 40,000 192,000
ox=EssJt 8iat XN& 232,000,000 232,000
St SOHA & 655,277 590,230 65,047
J| 471,530
< 183,747
308 XtXIEHH SOl A 655,277 590,230 65,047
J| 471,530
< 183,747
01 AXHHILEES 655,277 590,230 65,047
Osds0tdE XI& 655,277,000 655,277
J| 471,530
= 183,747
SE2E SOtEdst 25,350 0 25,350
J| 19,500
< 5,850
308 MtXIEHSOIH 25,350 0 25,350
J| 19,500
< 5,850
01 HXNHHNBHEELS 25,350 0 25,350
OssazZsirdst 25,350,000 25,350




2N

=
=
a4 B L
=
=}

@ ss=sX2a (&)
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
Jl 19,500
< 5,850
a4 sOty 23 N 26,000 0 26,000
J| 20,000
< 6,000
308 A EHSOIA 26,000 0 26,000
J| 20,000
< 6,000
01 HIXNHHNBMNEELS 26,000 0 26,000
RAadsOte ¥H29 26,000,000 26,000
J| 20,000
< 6,000
XXM S0tHa K& 75,000 0 75,000
J| 75,000
308 XXM SO0 A 75,000 0 75,000
J| 75,000
01 IXNHHBANEES 75,000 0 75,000
OXXH =0ttHal izl XI& 75,000,000 75,000
J| 75,000
ZLZ20F ICT SSEXNR (XX SH) 3,300,000 3,300,000 0
J| 3,300,000
403 A X EHHS =0l A 3,300,000 3,300,000 0
J| 3,300,000
01 X SHHXN2E= 3,300,000 3,300,000 0
OZAZ0F ICT 828 SHAAY
3,300,000, 000 3,300,000
J| 3,300,000
AQESAICT MMEEHAIZH 650,000 3,612,500 A 2,962,500
J| 500,000
< 150,000
403 XIS E X201 H 650,000 3,612,500 A 2,962,500
J| 500,000
< 150,000
01 X SHHAN2E=x 650,000 3,612,500 A 2,962,500
OADIESA ICT MIHEX =4 650,000,000 650,000
J| 500,000
= 150,000
SANEE NE 10,700 0 10,700
= 10,700
308 A EHHSOIA 10,700 0 10,700
= 10,700
01 HXNHHBHELS 10,700 0 10,700
OLSLE FEHS MY 10,700,000 10,700
= 10,700
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